Use the distributive property to rewrite each expression

RRACTICE below. Then, distribute to find the product.
48. 7x43 = X -+ = X + o |x = &
49. 4x21 = X + = X + % = +
50. 3x88 = X + = X +[x = +

PRACTICE I Find each product below.

51. 8x29 51.
52. 7x42 52.
53. 6x123 53.
b ¢
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54,

55.

56.

57.

58.

59.

Use the distributive property to rewrite each expression
PRACTICE below. Then, distribute to find the product.

13x4 = ( + )X = x| |+ X = i
36x5= ( + )x = X + b 4 — +
55X7 = ( + )x = X + X = +

PRACTICE ‘ Find the products below.

19%6
63x5

234x7
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58.
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60.

61.

62.

63.

- When we use
the distributive

pr'open‘y like
this, it s called

Use the distributive property to rewrite each
PRACTICE expression below. Then, evaluate.

15X6+5%x6 = + X = X =

7xX22-7%x12 = X - = X =

PRACTICE I Evaluate each expression below.

13x9+13x1
8%x23-8x%x3
3%X59+3x9+3x%x2

66x26+24x26+10%x26

62.

63.

64.

65.

Guide Pages: 87-90

83




66.

67.

68.

69.

70.

71.

il

’I

z

PRACTICE

35%4+4x%x65

74x3+3%6

8x14+26x%8

79%x6-6%x19

65x3+3x12+12x3+3x%x11

14x97+2x14

34Xx7-7%x8+6%X7-7%3
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18x3+3x2 |

Use the distributive property to evaluate each expression below.

66.

67.

68.

69.

70.

71.

72,




73.

74,

75.

76.

78.

79.

92 nickels

19 quarters and 25 pennies

25 nickels and 20 quarters

5 quarters and 15 nickels

19 quarters, 25 dimes, and 25 pennies

7 quarters, 7 dimes, 7 nickels, and 7 pennies

39 quarters, 25 pennies, 10 nickels, and 15 dimes.

73.

74.

75.

76.

77.

78.

79.
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Points
Scored

1 Bonk 13
1 Warble 7
1 Zip

Solve each problem below to find the
PRACTICE number of points each team scored.

80. The Reptosaurs scored 23 zips. How many points is this?  80.

81. The Woolies scored 13 warbles. How many points is this? 81.

82. The Hydras scored 20 bonks. How many points is this? 82.

83. The Growlers scored 12 bonks and 12 warbles. 83.
How many points did the Growlers score?

84. The Koombas scored 7 zips and 16 warbles. 84.
How many points did the Koombas score?

85. The Yetis scored 4 bonks, 4 warbles, and 9 zips. 85.
How many points did the Yetis score?

86. The Little Monsters scored 3 bonks and 13 warbles. 86.
The Bots scored 23 zips and 4 warbles.
Which team scored more points?
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~large reb'rangie than
it is to find the area
L of fseveral smau

PRACTICE

87.
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90.

700

134
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700

700

270

90.

1.

92.

93.
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